
DESCRIPTIONID PART QTY REF.

Ref.: 9841

15 min1 person

 Easy

 SUPERSPORT V-TECH FOR 

YAMAHA TMAX 530 ‘17-/ TMAX 560 ’20-

Nº 3
Nº 5 Nº 11

ALLEN PHILLIPS

Pg. 1/3

VTech supersport

Left side piece

Right side piece

M5x1 Nylon washer

M5 ISO 7380 Allen screw cap

M5 DIN 9021 Ø5,3x Ø15 x1,2 metalic washer (black)

M5x16 Ø11 ISO 7380 Allen screw

Ø4,5x Ø11,5x2 rubber washer

M5 silentblock

M5x15 special screw Hexagonal lenght 14

1

1

1

8

8

4

8

4

4

4

10607 F/H/NM3

10606J/CM3

10606J/CM3

 ARNV0000000245

TAPON--------85

ARAND-PD5---152

TORNI-I7380-493

ARAND-EPDM--722

SILENBTM5-046/1

TORNI-EM5---513

1

3

2

8

9

10

7

6

5

4

https://www.motorcycleid.com/puig/


 MOUNTING INSTRUCTIONS

 SUPERSPORT V-TECH FOR 

1 2

43

DISASSEMBLYDISASSEMBLY

ASSEMBLYASSEMBLY

Pg. 2/3

10

10

4

4

4

8
7

9

4

10

10

1.3 1.3

1.2

1.1

1.2

1.1

2-3
6

87

YAMAHA TMAX 530 ‘17-/ TMAX 560 ’20-



MOUNTING INSTRUCTIONS 

 SUPERSPORT V-TECH FOR 

EXPLOTING

Pg. 3/3

1

9

9

8

8

8

8

5

5

7

8

7

7

7

7

9

9

9

9

9

9

7

7

7

6

8

8

8

4

10

10

3

2

6

4

5

6

6

4

10

10

4

5

YAMAHA TMAX 530 ‘17-/ TMAX 560 ’20-

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

